Lab 2a - PRESSURE
Name___________________________________Date___________Time____________

Tire pressure
a) Report the readings from the barometer the pressure gage.

Outdoor Temperature, T=_____________________0C, _______________________0K

(Assuming temperature inside the tire is equal to outdoor temperature) 
Outdoor pressure, Pout,abs= ____________________ mm Hg, ____________________Pa
Tire pressure, Pt,gage= _________________________ psi, ______________________Pa
b) Cover the gage pressure in absolute pressure (Pabs=Patm+Pgage):

Tire pressure, Pt,abs= _________________________ psi, ______________________Pa

c) Using the ideal gas law (ρ= Pabs/R*T), calculate the air density outdoor and inside the tire. R = 287 J/(kg K)
	Outdoor air
	Air inside the tire

	
	


ρout=________________


ρt=_________________

c) Take the ratio between the two values:

ρout/ ρt=________________________
​Water-Mercury Manometer

Exercise: The manometer in the previous applet has a closed tank on one side and an open tank on the other, both containing water (γH2O = 9.798 kN/m3). The manometer itself contains mercury (γM = 132.836 kN/m3). The pressure in the closed tank is -67.7 kPa. Using basic fluid principles, solve for the change in height of the manometer fluid once the pressure valve is open and the system reaches equilibrium. In which direction will the mercury level displace? Check you solution using the Manometer Applet.
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